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Sl. No.1
QBID:1007376

Choose the correctly spelt word

(1) Penacea (2) Panacea

(3) Panacae {4) Panecea

(1) 1
(2) 2
(3) 3
4) 4

Fasferfan & i a0 sigen =i 27
(1) ER o5
@ ¥ =

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25401]
2[Option ID=25402]

3[Option ID=25403]
4[Option ID=25404]

Sl. No.2
QBID:1007377




Given below are four sentences in jumbled order. Select the option that gives their correct

order.

(A) The old sculptor. Jakanachari. was working on the main image of the temple in the
inner shrine.

(B) At the next full moon it was to be consecrated and opened for worshap.

(C) The temple of Belur was nearly ready.

(D) He spoke to no one and tolerated no interruption.

Choose the correct answer from the options given below :

(1) (A). (D). (B). (C)
(2] (C). (B). (A). (D)
(3} (B). (C). (A). (D)

(4) (B). (A). (C). (D)

(1) 1
(2) 2
3) 3
(4) 4

78 &) o Y 27
(1) &% 92Ty (2)
(3) LS| (4)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25405]
2[Option ID=25406]

3[Option ID=25407]
4[Option ID=25408]
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Sl. No.3
QBID:1007378




Choose the correct sentence.

(1) I recommend that he see a doctor.
(2) I recommend that he sees a doctor.
(3) I recommend that he 1s seeing a doctor.
(4) I recommend that he has to see a doctor.
(1) 1
(2) 2
(3) 3
(4) 4

A= g ®uA fqu e 2 ;. v s1f9%UR (Assertion (A)) % ®9 ¢ feifiga 2 4 K3k 39 &MU (Reasons
(R)) &% &9 H :

sifuser (A): @ e fomem Hanonfees 19 3 G wliA-a9 g 319 fon s 2, enefore
AU AV 5168 FHEA 2l

HI (R) : ferefl e %1 9@ B9 MG FEd 2, A1 98 FHE F 39 § 9 @ e gue g @
faaren FT 21 nar F7@ A 2

W HYA & 3T 0, = fqu e fowedi 4 8§ 5980 30w I &1 994 Sifau

(1) (A 3 (R) gHI TE 2 30 (R), (A) T TE =wE 2

@ () 3 ®) I wE E, A ®), Q) FwE smEn 48 2

(3) (A =& 2, ol R) w46 2

@ (A HE FE R, wfE R) w2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25409]
2[Option ID=25410]

3[Option ID=25411]
4[Option ID=25412]

Sl. No.4
QBID:1007379




Match List T with List IT

List I Last IT
(A) Honorary (I} One who does good to mankind
(B) Mercenary (I) The motive to earn money
(C) Philanthropist (IIT) An office without payv
(D) Prodigal (IV) One who wastes money

Choose the correct answer from the options given below :

(1) (A)-(III). (B)-(IL). (C)-(I). (D)-(IV)
(2) (A)-(IV). (B)-(I1I). (C)-(IL). (D)-(I)
(3) (A)-(D). (B)-(II). (C)-(IIL). (D)-(IV)
(4) (A)-(IT). (B)-(D). (C)-(III). (D)-(IV)

(1) 1

(2) 2

(3) 3

(4) 4

e 3R I faufa Fea & wgan Hofahaa d 9 98 a9 a0 |22

(1) HY2H - &I, & forw (2) HAfawmn - H
(3) HaY - H, & @ (49 w0 -4, W
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25413]
2[Option ID=25414]
3[Option ID=25415]
4[Option ID=25416]

Sl. No.5
QBID:1007380

Which of the following approximates the meaning of the phrase, ‘'on edge™

(1) feeling excited (2) feeling nervous
(3) feeling relaxed (4) feeling angrv
1) 1

2) 2

3) 3

(4) 4




e 9 U @ ° e " o=y 2y
(1)  gar=a (2) wdar=
(3)  9rE ared (4) =94 H F1E TF

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25417]
2[Option ID=25418]

3[Option ID=25419]
4[Option ID=25420]

Sl. No.6
QBID:1007381

Identify the correct indirect narration for the following sentence.
He said. “Be gquiet and listen to my words.”

(1) He urged them and said be quiet and listen to words.
(2) He urged them to be quiet and listen to his words.
(3) He said they should be quiet and listen to his words.
(4) He said yvou should be quiet and listen to my words.
(1) 1
(2) 2

3) 3
(4) 4

U] & HUHI sree wA =R

1 = () Iw
(3 @ IE
1) 1
2 2
(3) 3
4) 4

1[Option ID=25421]
2[Option ID=25422]
3[Option ID=25423]
4[Option ID=25424]

Sl. No.7
QBID:1007382




From among the four options given. choose the one word substitute for the phrase. ‘one who
compiles dictionaries’

(1) Bibliophile (2) Evangelist

(3) Lexicographer (4) Lecturer

1) 1

(2) 2

3) 3
(4) 4

frefafiaa @ & =t T g 27

(1) 9% U o421 2 (2) TH UF ¥ 2
(3)  3°H UF ¥ 2 (4) S U =5 2
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25425]
2[Option ID=25426]
3[Option ID=25427]
4[Option ID=25428]

Sl. No.8
QBID:1007383

Identifyv the correct option to complete the sentence meaningfully.

While thev cricket, hights ———— out.

(1) had watched. had gone (2) were watching. went
(3) had watched. went (4) have watched. have gone

(1) 1
(2) 2
(3) 3
(4) 4

FrAdTe BT HaTal &1 7Y 2 -

(1)  dThder g1 (2) cdeal &
(3)  wifadsrefi & (4) TG B
(1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=25429]
2[Option ID=25430]
3[Option ID=25431]
4[Option ID=25432]

Sl. No.9
QBID:1007384

Choose the correct phrase to complete the following sentence.
The new washing machine often gopes —————— order.

(1) run by (2) downin
(3) out of (4) even with
(1) 1
(2) 2

(3) 3
(4) 4

Sl ugg fea 0 e an g & #1 U veg "an|

(1)  =|mHErfEs (2) =t
(3)  urfers (4) @i
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25433]
2[Option ID=25434]
3[Option ID=25435]
4[Option ID=25436]

Sl. No.10
QBID:1007385

Identify the active voice for the following sentence.

Should a lie be ever told by you?

(1) Should a lie ever be told? (2) Should yvou ever tell a lie?

(3) Should a he be ever told? (4) Should a lie be ever told by evervone?
(1) 1
(2) 2
(3) 3

(4) 4




E... \..-.}:_ JT__,_.__:.""'\__.-."_ = ._;_\,'-;:-f
frfefiaa 4 & & =1 weg a1 6l 3fe 4 95 2

(1) =2y (2) wHed
(3)  wey (4) Feed

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25437]
2[Option ID=25438]

3[Option ID=25439]
4[Option ID=25440]

Sl. No.11
QBID:1007386

Name of the first Satellite in the world to be launched into the space 1s :

(1) Apollo-I (2) Sputmk
(3) Galileo (4) Armstrong

1) 1
(2) 2
(3) 3
(4) 4

HetE 4 varfud 29 96 9U" 3998 0 A4M™ 2 -

(1) 9@l - 1 (2)  HdH®
(3)  Tiferfera (4)  HEEN
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=25441]
2[Option ID=25442]
3[Option ID=25443]
4[Option ID=25444]

Sl. No.12
QBID:1007387




Which of the following 1s TRUE about G20?

(A) India will host the First G20 Summit in 2023.

(B) It accounts for more than 80 percent of global GDP. 75 per cent of global trade and 60
percent of the global population.

(C) Piyvush Goval 1s the G20 Sherpa from India.

(D)  The permanent secretariat of G20 1s in New York.

Choose the correct answer from the options given below :
(1)  (A). (B) and (D) only
(2) (A). (B) and (C) only
(3) (A) and (C) only
(4)  (B). (C) and (D) only
(1) 1
(2) 2
(3) 3
4) 4
Hfi-20 % &1 F=rfed & | 98 27
(A)  Wrd a4 2023 H a6l @ $f-20 wiied 6 g wmom)

(B) 39 "4 % Aaild dfvas Heher Gie] e 1 80 ufdvra H i, dfdas samm w75 3R dfvaw
FAEE 60 Ufawra fa s 2)

(C)  wwd H Sfi-20 Imq1 Ty 7TE 2|
(D)  S1-20 &1 = At=ae g 4 sEie 2|

Hi fau o faepedi d | Had I0gE I &1 944 FHifg
(1) %9 (A). (B) 31 (D)

(2) %94 (A), B) 3 (O)

(3) &= (A) 3 ()

(4)  %dd (B), (C) 3N (D)
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=25445]
2[Option ID=25446]
3[Option ID=25447]
4[Option ID=25448]




Sl. No.13
QBID:1007388

Who among the following 1= the first person of Indian origin to receive Booker Prize?

(1) Salman Rushdie (2) Jhumpa Lahir
(3) Arundhati Roy (490 V.S. Naipaul

1) 1
(2) 2
(3) 3
(4) 4

Rt e 1 97 vaen safad fom g g fiern 7
(1) e 196 (2) o erfEd
(3) FREH T (4) #.uH, e
(1) 1
(2) 2

3) 3
(4) 4

1[Option ID=25449]
2[Option ID=25450]
3[Option ID=25451]
4[Option ID=25452]

Sl. No.14
QBID:1007389

Which of the following are true regarding Indira Gandhi National Centre for the Arts

(IGNCA)?
(A) It 1s a premier govenment-funded arts organization in India.
(B) It 1s an autonomous 1nstitute under the Union Minmistry of Culture.

(C) It was established to serve as a major resource centre for Indian arts, especially

written, oral and visual source materials.

(D) It was launched by Former Prime Minister Shrimati Indira Gandhi.

Choose the correct answer from the options given below :

(1) (A). (B) and (D) only
(2) (A). (B) and (C) only
(3) (A). (B), (C) and (D) only
(4) (A) and (C) only
(1) 1
(2) 2

3) 3
(4) 4




Frefefiga 4 | sfen a1 g wven &z (313 S A |l v) & a1 H &4 § U4 =5E A7

(A)  ¥E 9NA I Ush WHhE faeddifvd TgE Fefl FeA 21

(B) 98 ar Hefd Farer & el wamreemE g 2|

(C) =z wndm™ wensii yeran fofigd, difgs iR gua =@ Al 7 ge 9999 &2 % ®9 o
zifud feham T o)

(D)  ¥2 qd wae i gfen wiei g gr fe T e

Fi9 feu o foemedi 4 4 981 39 %1 =94 difau
(1) &9 (A), (B) 3 (D)

(2) %99 (A), (B) 3 (O)

(3)  Fad (A), (B). (C) 3 (D)

(4 FEE Q) 3 (O)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25453]
2[Option ID=25454]

3[Option ID=25455]
4[Option ID=25456]

Sl. No.15
QBID:1007390

Which direction does a geostationary satellite revolve round the earth?

(1) East to West (2) West to East
(3) South to North (4) North to Scuth

(1) 1
(2) 2
(3) 3
(4) 4

gzl o =Hl @ w1e Y-+ s faa foom &1 SR a9 e 27

(1) vd o vfv=m (2) wfyem § qd
(3)  gfem 8 Iew (4) 3 | gfam
1) 1
(2) 2
3) 3

(4) 4




1[Option ID=25457]
2[Option ID=25458]
3[Option ID=25459]
4[Option ID=25460]

Sl. No.16
QBID:1007391

Who among P. @, R. S and T is in the middle while standing in a line? Q standing to the right
of T while S 1s between P and T, and @ 1s between T and R.

(1) T (2) P
(3) Q 4 R

(1) 1
(2) 2
3) 3
(4) 4

PQRSHNTURUF U@ |l eaufr ks usg d #1927 T & aifedl 3 Q @z 2, 5&fs P 3R T
A= SEINTAN RS H=H QR

(1) 1 ) P
(3) Q 4 R

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25461]
2[Option ID=25462]

3[Option ID=25463]
4[Option ID=25464]

Sl. No.17
QBID:1007392

A 1s 13% from Top, B 1s 18® from Bottom. When A and B change their position then A
becomes 21 from Top. What 1s the new position of B from bottom?

(1) 29 2) 28
(3 25 4) 26
(1) 1
(2) 2
(3) 3

(4) 4




AFHH 136 3 BH49 9 189 ™A W Fa A SN B 399 4 3199 TH o¢dd ofd 2 a1 A T H 219
M 90 AT A 21 B 99 2 A 8w gy

(1) 29 (2) 28
(3) 25 (4 26

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25465]
2[Option ID=25466]

3[Option ID=25467]
4[Option ID=25468]

Sl. No.18
QBID:1007393

Eight friends - P, @, R, S. T, U, V and W are sitting around a circle facing the centre. V 1s
third to the right of @ and second to the left of R while Q 1s second to the left of T and
immediate right of S. Also. U 1s between @ and T while P 1s not at the left of R. Who 1s exactly
at left of 57

(1 Vv o5 Y ¥
3 P 4 Q

(1) 1
2) 2
3) 3
(4) 4

P.Q.R.S.T. U, V3t W 311z fira v g1 § &3 il 3i1 gz @b <3 81 Q & aifed 3ir et w2 w
V23R R a6 3R g *H W 3| Fafh T & a8 31 gl ¥9H W Q & 31 S & a3 gifed 21
Q3 TH dad UR Fafth R % 1% 31k P21 21 S % at=d i #H 27

n Vv 2
3 P 4 Q

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25469]
2[Option ID=25470]

3[Option ID=25471]
4[Option ID=25472]

Sl. No.19
QBID:1007394




Seven students A. B. C, D, E, F and G take a series of tests. No two students get similar
marks. G always scores more than A. A always scores more than B. Each time either C scores
the highest and E gets the least, or alternatively D scores the highest and F or B scores the
least. If G 18 ranked fifth. which of these must be true?

(1) C 1s ranked second (2) D scores the highest
(3) E 1s ranked third (4) B isranked fourth
(1)
(2)

(3)
(4)

A W N =

|| B4 - A, B. C. D, E. F 31 G Fiansii &1 vsh-zgen ¢d 31 fov=dl fi <1 o & 3 v 79H 74
21 G %1 UHIH F A # AU 210 31 A F1 SHIE FH0 B # SAfuE #1 21 # AR A Al C I
3ih WTH Al 3N E a9 3 U Hal 2 A1 defcdeh ¥9 H D ISy 30k UE &l 2 3R F A1 B
<[ 3 UTH #d 3| afe G w1 S A ureel v foen ® A fre 3§ e wea 20

(1)  C ¥=H g5 2| (2) D I=dq 3¥ UH FId1 2]
(3)  E & M @ 2 (4) B =M = 2|

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25473]
2[Option ID=25474]

3[Option ID=25475]
4[Option ID=25476]

Sl. No.20
QBID:1007395

In a row of boys, Jayant 1s T from the start and 11% from the end. In another row of boys.
Vikram 1s 10™ from the start and 12® from the end. How many boys are there in both the
rows together?
(1) 40 (2) 39
(3) 38 4y 35

1) 1

(2) 2

3) 3

4) 4

gl hl Uk Utk H FH R H 7 9 3R 3 11d WH W Rl AsHl 6l vh guil dfe d oy
SRR H 109 3 31§ 124 ¥[ W 2| gH1 il 1w fuen #1 Fa fohad e 87

(1) 40 (2) 39
(3) 38 (4) 35




(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=25477]
2[Option ID=25478]

3[Option ID=25479]
4[Option ID=25480]

SI. No.21
QBID:1007396

If 5.2 and £:i.t-he value of S o, 18
b 3 q dbq —Tap
11 11
@D -5 @ I
: 152 12
(3 e (4 __
) 15 :I 13
(1) 1
(2) 2
(3) 3
(4) 4
af 2_4 HE{E—E, Maﬂm-:'@?nn:
b 3 qg 14 4bqg — Tap
11 11
(1) 5 (2) I
12 12
(3 — 4 -—
) 13 @ 13
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25481]
2[Option ID=25482]
3[Option ID=25483]
4[Option ID=25484]

Sl. No.22
QBID:1007397

Three spheres of radil 3 em. 4 em and 5 em are melted to form a new sphere. Then. the radius

of the new sphere 1s

(1) Hem
(3) T em

(2) 6cm
(4) 12 cm




(1)
(2)
(3)
(4)

A W N =

3 oft, 4 It 3w 5 o fasn & AW T v 98 e o= g faela fE Sma ) A, o
o= @ Brfi ¢

(L 5 ad (2) 6 4
(3) 7 i (4) 12 |

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25485]
2[Option ID=25486]

3[Option ID=25487]
4[Option ID=25488]

Sl. No.23
QBID:1007398

If the numerator of a fraction be increased by 15% and 1ts denominator be diminished by 8%.

N— - _—
the value of the fraction 1s ﬁ . then the original fraction 1s

(1) 34 (2) 4/3
(3 87 4) 3/8
(1) 1
(2) 2
(3) 3
(4) 4

gfe feredfl firg & 319 =1 15% =1 fea s 2 3 21 =1 8% g2 fean =man 2, fug =1 o o HEIR G
firgr == 2fi 2

(1) 3/4 (2) 4/3
(3) 37 (4) 3/8

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25489]
2[Option ID=25490]

3[Option ID=25491]
4[Option ID=25492]




Sl. No.24
QBID:1007399

13 chairs and 5 tables were bought for ¥ 8280. If the average cost of a table be ¥ 1227, then

the average cost of a chair 1s

(1) ¥ 185 2 ¥ 175
3 ¥ 165 4 ¥ 145

(1) 1
(2) 2
3) 3
(4) 4

Yo 1 BRI ?
(1) T 185 2 ¥ 175
3 ¥ 165 @ ¥ 145

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25493]
2[Option ID=25494]

3[Option ID=25495]
4[Option ID=25496]

Sl. No.25
QBID:1007400

The selling price of 30 items 1s equal to the purchase price of 25 items, then the profit or loss

percent 1s

(1) 16% %. Loss (2) 16% %. Profit
(3) 20%. Loss (4) 20%, Profit

(1) 1
(2) 2
3) 3
(4) 4

30 FxqHi %1 fasa gea 25 3l & %d Yed & SR 2| d A 3391 21 6 dfderd @@ e e
> B
@ 6 %mn @ 162%,

(3)  20%. &M (4) 20%, &4




(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25497]
2[Option ID=25498]

3[Option ID=25499]
4[Option ID=25500]

Sl. No.26
QBID:1063001

‘Shodhgangotri is developed for

(1) On-line repository of periodicals

(2) On-line repository of approved synopsis of Ph.D. work
(3) On-line repository of Ph.D. Thesis

(4) On-line repository of M.Phil. dissertations

(1) 1
(2) 2
(3) 3
4) 4

‘i i 1 frefefea 9 @ e fou fwfam fea mn 27

(1)  smafas afes & s e

(20 e w6 et e = s e
(3 e my vEy & shesd Gamm

(4)  wn.fee. o9 sy gEY 1 e FEmm

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25801]
2[Option ID=25802]

3[Option ID=25803]
4[Option ID=25804]

Sl. No.27
QBID:1063002

‘Noise’ in information retrieval occurs due to

(1) Recall (2) Precision

(3) Redundant information {4) Relevant information
(1) 1

(2) 2

(3) 3

(4) 4




qHuf gean § o fR s @ g 27

(1) 9= e (feeier) (2) witgga
(3)  Ffos ga (4) i g

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25805]
2[Option ID=25806]

3[Option ID=25807]
4[Option ID=25808]

Sl. No.28
QBID:1063003

Sir Anthony Pannizzi was associated with

(1) National Library of India (2) British Museum
(3) National Library of Australia (4) Library of Congress

(1) 1
(2) 2
(3) 3
(4) 4

T v g TR TEtg 97

(1)  wrdE T g (2) Tafzer guETE
(3) I STssl HE AR (4) = HATF U
(1) 1

() 2

(3) 3

(4) 4

1[Option ID=25809]
2[Option ID=25810]
3[Option ID=25811]
4[Option ID=25812]

Sl. No.29
QBID:1063004

Which of the following is the formal channel of communication?

(1) Technical report (2) Information broker
(3) Technological gatekeeper (4) Invisible college
1) 1
(2) 2
(3) 3

(4) 4




ARG | | A = SR F S WA R

(1) ATl Ofaded (2) == ST
(3)  WrEfTERE T (4) HZTT FiciA
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25813]
2[Option ID=25814]
3[Option ID=25815]
4[Option ID=25816]

Sl. No.30
QBID:1063005

Which one of the following represents main class zoologv in 6% edition of CC?

(1) I (2% 3
(3) K 4 L

(1) 1
2) 2
3) 3
(4) 4

freferfian 4 @ S @8, % 52 gem § ge vt wifn-faem = afeffue s 27

(1) I (2) J
(3) K (4 L

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25817]
2[Option ID=25818]

3[Option ID=25819]
4[Option ID=25820]

Sl. No.31
QBID:1063006

Which one of the following is enumerative scheme of classification?

() Colon Classification {2) Bliss Bibliographic Classification
(3 Universal Decimal Classification (4) Dewey Decimal Classification
1) 1
(2) 2
(3) 3

(4) 4




fopferfiga # & = sfommEers Sffem dem 27

(1) =i affem (2) ferm dugs affem
(3)  mrEitfyes gemera arffetor (4) =t gargera arffem

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25821]
2[Option ID=25822]

3[Option ID=25823]
4[Option ID=25824]

Sl. No.32
QBID:1063007

Pigeon hole is a

(1) Periodical display rack (2) DBook display rack
(3) Circulation desk (4) Catalouge cabinet

(1) 1
(2) 2
(3) 3
(4) 4

w (ffdmde) R

(1) sl afe ves (2) T eI i
(3) viEEH 3= (4) v Hfe

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25825]
2[Option ID=25826]

3[Option ID=25827]
4[Option ID=25828]

Sl. No.33
QBID:1063008

Online version of Mc Grawhill Encyclopedia of science and technology can be accessed
through

(1) Ebsecohost {(2)  Elsewvier
(3) Science Direct {(4) Access Science
(1) 1

(2) 2




3) 3
(4) 4

s ® 9 e arem | fa9e oF drenfrh F s8R § C8F o (Me Grawhill) TREESEiEa F

A= Fod 9 AT e s S 2 Y

(1) ==z (Ebscohost) (2) TEETEE (Elsevier)

(3) A1=H ==F2 (Science direct) (4) TFEH H@EA (Acces Science)
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=25829]
2[Option ID=25830]
3[Option ID=25831]
4[Option ID=25832]

Sl. No.34
QBID:1063009

Dewev Decimal Classification (23) is published in how many volumes?

(1 1 (2) b5
(3 1 (4y 3

(1) 1
(2) 2
3) 3
(4) 4

$4E gomer Fiffetn (239 geptn) fead @ei § i gan e

(1) 1 (2) 5
(3) 1 (4 3

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25833]
2[Option ID=25834]

3[Option ID=25835]
4[Option ID=25836]

Sl. No.35
QBID:1063010

The Browne Charging Svstem was devised by

(1) Browne C. Joe (2) Browne C. Caily
(3) Nina E. Browne (4) Rita B. Browne

(1) 1




(2) 2
(3) 3
(4) 4

A ek g smm-frts agfy i gfe e 6 o

(1)  w o = (2) wret = S
(3)  Fn 3. wE (4) T ot s

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25837]
2[Option ID=25838]

3[Option ID=25839]
4[Option ID=25840]

Sl. No.36
QBID:1063011

Chapter 12 of AACR-II deals with

(1) General rules for description (2) Rules for Analytical Entries

(3) Electronic Resources (4) Sound Recording

(1) 1
(2) 2
(3) 3
(4) 4

u.u ot 3. - 11 1 serE-12 frod gafim 27

(1)  fa=mm = ame= fam (2) vty wfafes & g
(3)  Seiagie® SHETHd (4) eafs fnifen

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=25841]
2[Option ID=25842]
3[Option ID=25843]
4[Option ID=25844]

Sl. No.37
QBID:1063012

Oxford English Dictionary (OED) Second Edition was published in

(1) 20 vol (2)
(3) 23 vol (4)

1) 1

volume




(2) 2
(3) 3
(4) 4

siererd gifem feaomd (3n.4.9) = fadfta oo

(1) 20 @2 (2)
(3) 23@s (4)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25845]
2[Option ID=25846]

3[Option ID=25847]
4[Option ID=25848]

@i § Wi B3 |

g g

]
&=

Sl. No.38
QBID:1063013

Match List T with List IT :

Last I
(A) Sight seeing places in Bangalore
(B}

(C)

List of Books on ‘Genetics’

Name of Vice Chancellors of Indian
Universities

(D)  Awailability of a Journal in a ibrary

List IT
() NUCSSI
(II) Foder's Essential India
(III) Books in Print

(TV) Universities Hand Book

Choose the correct answer from the options given below :

(1) (A)-(II). (B)-(III). (C)-(IV). (D)-(D)
(2) (A)(D). (B)«(II). (C)~(I1L). (D)-(IV)
(3) (A)-(IIT), (B)-(II). (C)-(I). (D)-(IV)
(4) {A)-(IV). (B)-(III). (C)-(IL). (D)-(I)

(1) 1

(2) 2

(3) 3

(4) 4




1-1 % =1y geii-11 =1 e i

=1 =11
(A) TN H FHE T (I) Tt (NUCSSI)
(B) ‘SHlzFE # SR TEE (II) Frsm wHi=me s
(C) W™ Tagafaamea * Ferard (II) 78 = T2

(D) TFEE § SAEE TR gy (IV) IS Zvsas

Hi= Tgu T T § ° HE I H =9 His

(1) (A)-(II). (B)-(III). (C)-(IV). (D)-(I)
(2) (A)-(D). (B)-(II). (C)-(IIL). (D)-(IV)
(3) (A)-(IIT). (B)-(II). (C)-(D). (D)-(IV)
(4) (A)-(IV). (B)-(III). (C)-(IL). (D)-(I)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25849]
2[Option ID=25850]

3[Option ID=25851]
4[Option ID=25852]

Sl. No.39
QBID:1063014

Who introduced the concept of Management Theory Jungle?

(1) Harold Koontz
(3) AL Maslow

(1) 1
(2) 2
(3) 3
(4) 4

(2) Luther Gullick
(4) Henry Fayol

== =il = & fEER FT AT g T o ?

{1} ,-,'_‘1'3-__ nr.g "5-—;:: ﬂ
(3) T, Het
(1) 1
(2) 2
(3) 3

(4) 4

1[Option ID=25853]
2[Option ID=25854]

(2) T e
(4) = FE=




3[Option ID=25855]
4[Option ID=25856]

Sl. No.40
QBID:1063015

Which of the following symbol is used in both DDC and CC scheme of classification?

(1) () colon (2) (=) equal sign

(3) (") Inverted comma (4) (,) comma

(1) 1
(2) 2
(3) 3
(4) 4

e & & = &1 wdts DDC 3R CC gt arffon wgfeat # waim zam 27

1 ) fERs (2) (=)=t faem
(3) () 3gm fam (4) () FeafaE

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25857]
2[Option ID=25858]

3[Option ID=25859]
4[Option ID=25860]

Sl. No.41
QBID:1063016

Which of the following helps to save the book spine from cracking?

(1) Paging (2) Flyleaf
(3) Hollow backs {(4) Cuneiform

(1) 1
(2) 2
3) 3
(4) 4

freferfia # @ #19 ges it fie 24 & == 27
(1) e (2) =T
(3) wrEeh fis (4) EH

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25861]
2[Option ID=25862]




3[Option ID=25863]
4[Option ID=25864]

Sl. No.42
QBID:1063017

Symbol of ‘Maharaja of Air India’ is

(1) Geographic Indication

(3) Patent

(1) 1
(2) 2
(3) 3
(4) 4

‘w3 e & wEm & ol B

(1)  wimifes geha
(3) Wew

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25865]
2[Option ID=25866]

3[Option ID=25867]
4[Option ID=25868]

(2) Copyright
{4y Trade mark

(2) wfafeerfasr
(1) geAT

Sl. No.43
QBID:1063018

LINUX was originally written by

(1) Tim Paterson

(3) Linus Torvalds

(1) 1
(2) 2
3) 3
(4) 4

ferrera emm:

(1) | YemE
(3 fomm Trames

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25869]
2[Option ID=25870]

& g feman mam

(2) Bill Gates
(4) Ken Thompson

(2) fo= em
(1) = u>IEA




3[Option ID=25871]
4[Option ID=25872]

Sl. No.44
QBID:1063019

The word ‘Dictionarium’ used for dictionary has heen derived from

(1) Latin (2) Greek

(3) Roman {4) German

(1) 1
(2) 2
(3) 3
(4) 4

fegartt % foro wgam fopu s aren wreg “fememfem femd wra foen o 27

(1)  dfes (2) U
(3) T (4) W=

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25873]
2[Option ID=25874]

3[Option ID=25875]
4[Option ID=25876]

Sl. No.45
QBID:1063020

‘Sear’s List of Subject Heading' was first published in the year

(1) 1955 (2) 1944
(3) 1933 (4) 1923

1) 1
(2) 2
(3) 3
(4) 4

Taard foree sife gedtwe 2fen’ yem am ad § wehifer g8 o
(1) 1955 (2) 1944
(3) 1933 (4 1923

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25877]
2[Option ID=25878]




3[Option ID=25879]
4[Option ID=25880]

Sl. No.46
QBID:1063021

Given below are two statements :
Statement I :  Subject cataloguing 1s not less important than author and title entries.

Statement IT :  Descriptive cataloguing refers to the process of describing a book or
other reading material on a catalogue entry. with a view to its quick
1dentification by user.

In the hight of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I 1s true but Statement IT 1= false

(4) Statement I 1s false but Statement II 1s true

(1) 1

(2) 2

(3) 3

(4) 4
Hr 2t o feg o B -
wed 1. fowy ygsiem e i sfide & fafes 6 gom 9 #0 geel 746 2
we 11 aviarees gaEsm uh s = ° wfafe o g @ s e gt & faam @ g

A 8, T IR g It My vEEE w2 #§ wwd gy R w2

ITUF FHY9 & FeA 8, 44 G 7 fawea 8@ & 98 3+ === Fifa

(1) %y [ 3 12 51 &
(2) YA I3 g 30 &
(3)  FuA IO g, ©f6 Fya 11 3w 2
(4) ¥ [ 39 2, dfe ya 1o 2

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25881]
2[Option ID=25882]

3[Option ID=25883]
4[Option ID=25884]

Sl. No.47
QBID:1063022




Arrange the following public libraries Acts according to their yvear of enactment.

(A) Chattisgarh Public Librarv Act
(B) Kerala Public Library Act

(C) Telangana Public Library Act
(D) Goa Public Library Act

(E) Orissa Public Library Act

Choose the correct answer from the options given below:

(1) B, @M. ©., A &
(2) B, @), E), ©), &)
(3) (D). (B). (E). (A). (C)
4 (B. D). (E). (A). (O
1)1
(2) 2
(3) 3
(4) 4

Fraferfiaa avdefre eamrem sfufet 5t o5 sfufem % ad & s smefirm fifs

(A)  etaTe qEaReE sfutEm
(B) & qeaenier sifufm
(C) e gt st
(D) e geaekTe sAfafEm
(B)  sifemm g sifufem

=1 feu mu fawedt © @ @ 39 1 =999 fifu
(1) (B)y, (@, (C), (A), (E)
(2) (By, (D). (E). (C), (A)
(3) (D), (B), (E), (&), (C)
(4) (B), (D, (E), (&), (C)
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25885]
2[Option ID=25886]
3[Option ID=25887]
4[Option ID=25888]

Sl. No.48
QBID:1063023




Arrange the steps of classification work 1n proper sequence.

(A) Checking with the catalogue

(B) Preliminary sorting

(C) Determining the specific subject
(D) Assigning the class number

Choose the correct answer from the options given below:

(1) (C). )., B). (D
(2) (B). (D). (A). (C)
@ (A B @), (O
4  (B). A. (0. (D
1) 1
(2) 2
(3) 3
(4) 4
arffern = & freferfiga wwoi #1 wn # safine Fifm:
(&)  gETE 8 9"
(B)  wmfar BeE
() fufire foma =1 fruffa %o
(D) = e fafde s

# feu mu fawedi § & w6 I 1 999 Sl

(1) ©)., @), B), D
(2) (B), (D)., (&), (C)
(3) A, (B)., @M. C)
(4) (B), (A), (©), (D)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25889]
2[Option ID=25890]
3[Option ID=25891]
4[Option ID=25892]

Sl. No.49
QBID:1063024




Arrange the following in order of their first appearance.

(A) Sears’ List of Subject Headings

(B) Medical Subject Heading

(C) Library of Congress Subject Headings
(D) The Merriam Webster Thesaurus

Choose the correct answer from the options given below:

(1) (A). (B). (C). (D)
(2) (B). (C). (D). (A)
(3) (D). (C). B). (A)
(4) (D). (C). (A). (B)
(1) 1
(2) 2
(3) 3
(4) 4

frferfiaa 1 374 saafa &9 % #a 7 =afem Hifu:

(A  faud fom a1 g Bfem
(B)  Hfewer gesae 2fén
(C) eEal 3% wim geae 2fem
(Dy  uftam se faaim

frar few mu faepeat d & wdt 3w &1 9w Hifo
(1) (A), (B, (C), (D)
(2) (B), (C), (D), (A)
(3) (D), (©), (B), (A)
(4) D, (), (A), (B)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25893]
2[Option ID=25894]

3[Option ID=25895]
4[Option ID=25896]

Sl. No.50
QBID:1063025




Arrange the following in ascending order of their first appearance.

(A) British National Bibliography

(B) Australian National Bibliography

(C) Sr1 Lanka National Bibliography (current)
(D) Indian National Bibliography

Choose the correct answer from the options given below:

(1) (C). A). B). (D)
(2) (A). D). B). (O
(3) D). (C). (A). (B)
(4) (B). (A). (D). (C)
(1) 1
(2) 2
(3) 3
(4) 4

fAfeafEa #1 39% Tauay a9 A F AR #0 0 SEgd i

(&) Tofes A T T
(B)  wWEfoEd A 79 g
(C) it = 99 I
(D)  9WdE T=E 99 F=

= fou U TEem 9 | "E 39 F =999 hi
(1) (C). (A). B). (D)
(2) (A, (D). (B), (&)
(3) (D). (C). (A). (B)
(4) (B). A, D). (C)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25897]
2[Option ID=25898]

3[Option ID=25899]
4[Option ID=25900]

Sl. No.51
QBID:1063026




Which of the following Public Libraries Act do not have provision of library cess?

(A) Madras Public Libraries Act

(B) Telangana Public Libraries Act
() (Goa Public Libraries Act

(D Maharashtra Public Libraries Act
(E) Karnataka Public Libraries Act

Choose the correct answer from the options given below:

(1)  (A), (B), (C) only
(2) (C). (D) only
(3)  (B), (C)only
(4) (B). (C), (D) only
(1) 1
(2) 2
(3) 3
4) 4

fraferfaa & & $19-3 adafte waewm snfufrd § oeed 39 = yaam 78 fem mn 27

(A) "z wEAE TEwe dfufEm
(B)  dern et qeremer sifufrem
(C) e et qeasnrer st
(D)  wWErT gEwtaes TR stafem
(B)  Hfes ardefrs qeasmen sfufem

Hra fer mu fawedt 4 @ = I w1 W Fifs
(1) s (A), (B), (O)

(2)  ae (C), (D)

(3) %A (B), (0)

(4)  Fat (B), (C), (D)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25901]
2[Option ID=25902]

3[Option ID=25903]
4[Option ID=25904]

Sl. No.52
QBID:1063027




Which are providing free access of resources to the academic communities?

(A) ERIC

(B) Pubmed

(C) Scopus

(D) Web of Science

Choose the most appropriate answer from the options given below :
(1 (A). (D) only
(2) (B), (C) only
(3) (A), (C) only
(4 (A), (B) only

(1) 1
(2) 2
3) 3
(4) 4

frferfiga & & #9 sefe wyedt +1 @6t #1 fyes fime wr = @ #7
(A) ERIC (ufi=)
(B)  Pubmed (795%)

() Scopus (ThTH)
(D) Web of Science (9 3T% A13H)

= feu o fasedi & @ mad Iuge 3w &1 999 i
(1) & (A), (D)
(2) %= (B), (C)
(3) W« (A), (C)
(4)  *=4 (A), (B)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25905]
2[Option ID=25906]

3[Option ID=25907]
4[Option ID=25908]

Sl. No.53
QBID:1063028




Which among the following were part of joint steering committee for the development of RDA

(A)
(B)
(C)
(D)
(E)

ALA
IFLA
CILIP
LOC
ILA

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

(B). (C), (D) only
(A). (B)only

(A), (C), (D) only
(C). (D), (E) only

g 019 F9 8 931U, F [9FE F 0 9990 I9TeE gEid & 30 9

(A) T, U, U, (ALA)
(B)  #mE. . Ue. U, (IFLA)
(C)  Toefm (CILIP)
(D) T A HL (LOC)
(E) 1. v, © (ILA)
Hi= fou o faeat § 9 wE I 1 =Ee i
(1) == (B). (0). (D)
(2)  Had (A), (B)
(3)  =ae (A). (C). (D)
(4) = (C). (D). (E)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25909]
2[Option ID=25910]
3[Option ID=25911]
4[Option ID=25912]

Sl. No.54

QBID:1063029




Match List [ with List I1 :

(A)
(B)
(C)
(D)

List 1
Organisations
UNESCO
IFLA
ALA
SLA

List 11

Year
Iy 1927
(IIy 1876
(I1T) 1909
(IV) 1948

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

(A)-(IV), (B)-(D, (C)-(ID), (D)-(I1T)
(A)-(D), (B)-(IV), (C)-(ID), (D)-(IIT)
(A)-(IV), (B)-(ID), (C)-(D), (D)-(11T)
(A)-(IV), (B)-(I1L), (C)-(ID), (D)-(T)

g1 % @y geh-11 =1 fgem Sifi

(A)
(B)
(C)
(D)

i1
it
B0l
FE. T, 04, T,
U, UF. T
TH. U, U

gE-11

T T
I 1927
(I) 1876
(II1) 1909
(IV) 1948

= few mo faspedi d @ ot I =1 == Fifs .

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

(A)-(IV), (B)-(D), (C)-(ID), (D)-(I11)
(A)-(D), (B)-(IV), (C)-(ID), (D)-(I1)
(A)-(IV), (B)-(ID), (C)-(D), (D)-(111)
(A)-(IV), (B)-(I1L), (C)-(I1), (D)-(T)

1[Option ID=25913]
2[Option ID=25914]
3[Option ID=25915]
4[Option ID=25916]

Sl. No.55

QBID:1063030




Match List T with List IT :

List I List IT
Biographies First vear of publication
(A) Current Biography (I) 1970
(B) International Who's Who (I) 1897
(C) Chamber's Biographical Dictionary (IITy 1935
(D) India Who's Who (IV) 1940

Choose the correct answer from the options given below :

(1) (A)-(I). (B)-(II). (C)-(III). (D)-(IV)
(2) (A)-(IV). (B)-(III). (C)-(I). (D)-(IT)
(3) (A)-(IV). (B)-(I1I). (C)-(II). (D)-(I)
(4) (A)-(IID). (B)-(IV). (C)-(I). (D)-(IT)

(1) 1

(2) 2

(3) 3

(4) 4

g1 % 1y g1 #1 e Hifew

gefi-1 gt-I1
Srafem TS 1 9y a9
(A) Hie SR (I) 1970
(B) FRFAETE (I) 1897
(C) =rad stgmies fegaatt (IIT) 1935

(D) sfEmEae (IV) 1940
dra feu o fawedi & @ @ 9 1 =99 Hifsw

(1) (A)-(D), (B)-(ID), (C)-(I1L), (D)-(IV)
(2) (A)-(IV), (B)-(ID), (C)-(1), (D)-(1I)
(3) (A)-(IV), (B)-(I1D), (C)-(1T), (D)-(D)
(4) (A)-(I1I), (B)-(IV), (C)-(D), (D)-(1T)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25917]
2[Option ID=25918]

3[Option ID=25919]
4[Option ID=25920]

Sl. No.56
QBID:1063031




Match List I with List I1 :

List I List IT
Databases Subject
(A)  Sci-Finder (Il Law
(B) Compendex (II) Engineering
(Cy Manupatra (III) Biology
(D) Entrez (IV) Chemistry

Chooze the correct answer from the options given below :

(1) (A)-(D), (B)-(ID), (C)-(IL1), (D)-(IV)
(2) (A)-(1I), (B)-(11D), (C)-(IV), (D)-(D)
(3) (A)-(IV), (B)-(ID), (C)-(D), (D)-(I1I)
(4) (A)-(IV), (B)-(ID), (C)-(I1L), (D)-(T)

1) 1
(2) 2
3) 3
(4) 4
get-1 % =y geft-11 =1 fierm Hifsw
-1 11
ey e
(A) ugHtamd - fE=t (Sci-Finder) @ fafa
(B) HivgT2Fg {Compendex) (1) sshifafo
(C) #Hqw=A (111 frafazm
(D) =+ (V) T I
Fra feu o fasreai & 4 g I 1 =99 Fifso .

(1) (A)-(D), (B)-(ID), (C)-(I1D), (D)-(IV)
(2) (A)-(1T), (B)-(L1D), (C)-(IV). (D)-(D)
(3) (A)-(IV), (B)-(ID), (C)-(D), (D)-(11T)
(4) (A)-(IV), (B)-(1D), (C)-(I11), (D)-(T)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25921]
2[Option ID=25922]
3[Option ID=25923]
4[Option ID=25924]

Sl. No.57
QBID:1063032




‘Archie’ was developed by

(1) Mathew Gray (2) Alan Emtage
(3) Tim Berners Lee (4)  Artijn Koster

(1) 1
(2) 2
3) 3
(4) 4

4 et =t Tl e e

(1) A3 (2) T TS
(3) fewm wid-=h (4) S FRet

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25925]
2[Option ID=25926]

3[Option ID=25927]
4[Option ID=25928]

Sl. No.58
QBID:1063033

Which of the following canon states that choice of rendering of headings should be determined
from the title page and its verso?

(1) Context (2) Currency
(3) Prepotence (4) Ascertainability

(1) 1
(2) 2
(3) 3
4) 4

freaferfiaa & & ffg sw 4 % ™ 2 & ol 1 yeqe +0 & 96e s g s 399 gvaTs |
fraffea &t seh =fe 7

(1) =y (2) WA
(3)  wUrEr (4) Frv=ga

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25929]
2[Option ID=25930]

3[Option ID=25931]
4[Option ID=25932]




Sl. No.59
QBID:1063034

‘ADONIS is an example of
(1) CAS (2) SDI
(3) DDS (4) Aandl

(1) 1
(2) 2
(3) 3
4) 4

ADONIS feraes1 v 3@ 27

(1) CAS (2) SDI
(3)  DDS (4) AawI

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25933]
2[Option ID=25934]

3[Option ID=25935]
4[Option ID=25936]

Sl. No.60
QBID:1063035

Under RRRLF financial assistance matching scheme, assistance is shared on matching basis
between RRELF and developed states as per the given ratio :

(1) G0 : 40 (2) 5H0:50

(3) 70 : 30 (4) 90:10

(1) 1
(2) 2
3) 3
(4) 4

R 3R, Ue. . faedta wamam aarges 9 % siia S 3m. Sue. vs, A fawfia osi % e
HerEa aaEy san (A afm) @ fea soe § aen £ o 27

(1)  60:40 (2) 50:50

(3) 70:30 (49) 90:10

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25937]
2[Option ID=25938]

3[Option ID=25939]
4[Option ID=25940]

Sl. No.61




QBID:1063036

Which of the following are sources of finance for libraries?

(A)
(B)
(C)
(D)
(E)

Regular grants from parent body

Earned income from membership fee, sales and service
Seed money for research

Grants as gifts/endowments

Acquiring periodicals

Choose the most appropriate answer from the options given below :

(1)
(2)
(3)
(4)

(1) 1
(2) 2
3) 3
(4) 4

(A), (C) and (E) only
(A), (B) and (D) only
(B), (C) and (D) only
(A), (C) and (D) only

frferfiaa & & #9 & geawem & fow & & 27

(A)
(B)
(€)
(D)
(E)

uet frepra & frafas e
g 6, o ofit gan 7 afsa sma
g % for smfem aaafy
ITER el % 'Y H FIEH
smafers afismsit £t gt

fa feu mu fosheai & & w98 g 3w =1 =597 i

(1)

(4)

(1) 1
(2) 2
3) 3
(4) 4

e (A), (C) 3(E)
A (A), (B) 3 (D)
*ae (B), (C) 3 (D)
&ad (A), (C) 3 (D)

1[Option ID=25941]
2[Option ID=25942]
3[Option ID=25943]
4[Option ID=25944]

Sl. No.62

QBID:1063037




‘Veronica' is an example of :

(1) Web-browser (2) Search engine

(3) Database (4) Directory

(1) 1
(2) 2
(3) 3
(4) 4

atifer frefefiaa # @ fros s sgem 27

(1) 99 s (2) 4.
(3) EeEm (4) e (FEfmn)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25945]
2[Option ID=25946]

3[Option ID=25947]
4[Option ID=25948]

Sl. No.63
QBID:1063038

‘Disk Operating System’ was introduced by

(1) Linus Torvalds (2) Alan Emtage
(3) Mathew Gray (4) Tim Paterson
1) 1

(2) 2

(3) 3

4) 4

o srimfén e’ frgd wafda e oz

(1)  ©E9 diEmesy (2) UEA WA
(3) Hed (4) fem tewm
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=25949]
2[Option ID=25950]
3[Option ID=25951]
4[Option ID=25952]

Sl. No.64
QBID:1063039




OCLC stands for

(1) Online Computer Learning Centre (2)  Online Computer Library Centre

(3) Open Computer Literary Centre (4) Ohio Communication Learning Centre

(1) 1
(2) 2
3) 3
(4) 4

el R i M e G i 2

(1) A= Foog A de (2)  SAEIET FEET AT T
(3)  #AME g fEad O (4) #ATEE AT AT S

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25953]
2[Option ID=25954]

3[Option ID=25955]
4[Option ID=25956]

Sl. No.65
QBID:1063040

PDP-Bi1sa:

(1) Paging device (2) Micro computer

(3) Mini computer (4) Storage device

(1) 1
(2) 2
3) 3
(4) 4

fi.éd.-8 7 -

(1) s i feamm (2) U HIEH T
(3)  us et e (4) U =iw feama

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25957]
2[Option ID=25958]

3[Option ID=25959]
4[Option ID=25960]

Sl. No.66




QBID:1063041
Who enunciated the term hypertext?

(1) Vannevar Bush (2) Tim Berness Lee

(3) Ted Nelson {4) Charles Babbage

(1) 1
(2) 2
(3) 3
(4) 4

fraferfiaa o @ from ‘arem Fee’ wee 1 ufaren feam e e

(1) F~Erga (2) fom =i &
(3) 23 doad (4) =Ted Faw

(1) 1
(2) 2

3) 3

(4) 4

1[Option ID=25961]
2[Option ID=25962]

3[Option ID=25963]
4[Option ID=25964]

Sl. No.67
QBID:1063042

‘National Knowledge Network’ was established in the year:

(1) 2008 (2) 2010
(3) 2005 (4) 2012

(1) 1
(2) 2
(3) 3
(4) 4

T 7 2o &1 frm ad § wfia o man e

(1) 2008 (2) 2010
(3) 2005 (4) 2012

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25965]
2[Option ID=25966]

3[Option ID=25967]
4[Option ID=25968]

Sl. No.68




QBID:1063043

Record of the actual work done during the preceding vear 1s shown 1n

(1) Library Plan

(3) Library Work Manual

1) 1
(2) 2
3) 3
(4) 4

(1) == H A=

(3)  TweE H FHE Tadl e

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25969]
2[Option ID=25970]

3[Option ID=25971]
4[Option ID=25972]

(2) Annual Report
{(4) Annual Calendar

Sl. No.69
QBID:1063044

Given below are two statements : One 1s labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A):  Abstracting service i1z not much relevant in facilitating literature review in
research.

FReason (R) : Literature review summaries major findings of various earlier studies done

by scholars.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

Both (A) and (R) are correct and (R) 1= the correct explanation of (4)
Both (A) and (R) are correct but (R) 18 NOT the correct explanation of (A)
(A) 1s correct but (R) 1s not correct

(A) 12 not correct but (R) 1s correct




f= 31 % fqu M 2 : oF S (Assertion (A)) % w1 # ffiga 2 1 g@0 3@ F0 (Reason
(R)) % &1 H :

afirpem (A) -

&AW (R) :

FIA 2

vty § Arfger-adften = gEe 5§ G a9 i rEfisa a6l w2l
oifera-gedften st g 0@ 4 feu T werE & wga e oo wem

I YA % e °, A9 o o fawedt | @ 99w s s @ w3 fifsw

(4)

(1) 1
(2) 2
(3) 3
(4) 4

(A) 3 (R) 41 581 & 3 (R), (A) 1 &8 = 2
(A) 3 (R) 21 7 £, SfF R), (A) i T =men 2 2

(A) T8 &, afe (R) 9 781 2
(A) FE 78 2, fe (R) ot 2

1[Option ID=25973]
2[Option ID=25974]
3[Option ID=25975]
4[Option ID=25976]

Sl. No.70

QBID:1063045

Given below are two statements

Reaszon E.

Assertion (A) :

Reasonz (R) :

: One 1s labelled as Assertion A and the other 1s labelled as

Encyclopedias cover all types of information found in other references

sources such as biographical. geographical and historecal sources.

information.

Encvclopedias are treated as most relevant source for biographical

In the light of the above statements, choose the correct answer from the options given below :

(1)
(2}
(3)
(4)
(1) 1
(2) 2
3) 3
(4) 4

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)

(A) 1= true but (R) 1s false
{A) 1s false but (R) 1s true




#= 21 Fo Tou e 2 ; vF wiuFed (Assertion (A)) % ®9 § fofigd 2 91 7@ 0F FA (Reasons (R))

HATFH (A) : fagaepren 9 @it R f g el S 2 oW s = a9 S |,
i |id 310 Uiaaias aia 0 off e 2
F1 (R) : fawamien =1 Sfa g9 g= % oo gty g || % 59 9 96 A6 2

U FYF F AEE 1, 4" 50 0 fTwew 5 9 5eg 30ge 3 0 =991 i

(1) (A 3 (R)ZF 7 2 31 (R), (A) Fi w0 = 2
(2) (A ¥R ®R) EA T E, #F [R), (A) F 98 =wen = oa
(3) (A= 2, wtFA (R) 04 7

(4) (A) 3104 2, @ (R) a2

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25977]
2[Option ID=25978]
3[Option ID=25979]
4[Option ID=25980]

Sl. No.71
QBID:1063046

Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A):  As per second law of library science “Every reader his‘her book”, facilitates
book selection process.

Reason (R) : Drury's principle also states that the selector should know the readers and
their information requirements.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) is true but (R) is false

(4) (A) is false but (R) is true

(1) 1
(2) 2
(3) 3
(4) 4




Frr &1 e fou mu # ;v e (Assertion (A) % 9 # faflga @ a1 go0 39 FW (Reason
(R) % ¥4 ¥ :

sfrem (A) . qrawed fasm & fifta fem % smam e aes w6 3t s fier e
=7 ik § HEwa St 2

&0 (R) gl & fogim d =8 Wt w71 ™ 2 f% Swawdl ®1 wewl I I gEA-ded
FETIHAIA & IR H AR F =)

ITAH YA & Heireh |, A= for mu famedi @ @ w3 = 93w fifae

(1) (43 (R) T a3 2 3 (R), (A) H w8 =men 2

(20 (A3 R) I 7 E, Ao (R), (A) F 78 = 1@/ 8
(3) (&)= R, & (R) mA 2

(1) (A) 6 2, A (R) & 2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25981]
2[Option ID=25982]

3[Option ID=25983]
4[Option ID=25984]

Sl. No.72
QBID:1063047

Given below are two statements :

Statement I :  ‘Canon of Sought Heading', ‘Canon of Propotence’ and ‘Canon of Recall
Value' seems to be the member of same family.

Statement II : It 1s the duty of ‘Canon of Sought Heading' to see that all szought
approaches are served by catalogue.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement II are falze

(3) Statement I is true but Statement II 1s false
(4) Statement I 1s false but Statement II 1s true
1) 1
(2) 2
(3) 3

(4) 4




= € wu fgu o 2 -

®u [ iideh 1 I, Gl 1 99ga SR Tl w5 vy v @ ofen % g wdta a8

®yd [1:  Sids & g =1 Fds1 92 e w1 & B v w3 g mft = mo saemt i ofd 6
E

I HYA & Hers |, A= e mu fmedt § & g8 3 w1 =55 Fifau

(1) == [ 3i 11 €M1 oo 8
(2) A 3 11 g1 o #
(3) %Y I8 &, ©fed &y 11 35 2
(4) A [ 39 2, sifr seya 118 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25985]
2[Option ID=25986]

3[Option ID=25987]
4[Option ID=25988]

Sl. No.73
QBID:1063048

The term ‘Library Automation’ was first used by

(1) Presper Eckert (2) John Mauchly
(3) Robert Noyce (4) D.S. Harder

(1) 1
(2) 2
3) 3
(4) 4

fraferfaa & & fram vach an gawem e (et siemeE) 95 0 wEm e

(1)  ooF uHd (2) w7 Aiaeh
(3) U= Afqg (4) EhuE. 7E

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25989]
2[Option ID=25990]

3[Option ID=25991]
4[Option ID=25992]

Sl. No.74
QBID:1063049




Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion (A) : Open source software permits extensive customization to meet the needs of
the libraries.

Reason (R) : Source codes are available at no cost in open source software and can be
modified.

In the hight of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct
(4) (A) 12 not correct but (R) is correct
(1) 1
(2) 2
(3) 3
(4) 4

f= g1 #ua fqu T 2 . wF AEE (Assertion (A)) % w0 # fofiga 2 @1 ¢80 39% S0 (Reason
(R)) % &7 4 :

®u [ 37 HE AiReSa TEawmerdl s stavasast it qfd & fon swam watst & srevmmast
% ga9 § 7% 9§ IET A i srgwha gan 2

®ed I1: 3779 91 afweas 8 9 e F.9es sueey 2 3 samafa e s g 2)
I HYA % e 1, e fgu e fawedt @ @ 99w swgw s S gga i

() (A) 3 (R) S & 8 3t (R), (A) i 9t = 2

(2 (&) IR I T E, TR (R), (A) F aE =mEn 1@ 2
(3) (A = 2, S R) g8 74 @

(4 (A =H 2wl (R Ed 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25993]
2[Option ID=25994]

3[Option ID=25995]
4[Option ID=25996]

Sl. No.75
QBID:1063050




Given below are two statements :

Statement I :  Secondary collection consists of recent additions and the collection from

where the books regularly move.

Statement IT 1 Active collection consiste of older editions of book. not so relevant and

obsolete materials.

In the hight of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true.
(2) Both Statement I and Statement II are false.
(3) Statement I 1s true but Statement II 1= false.
(4) Statement I 1s false but Statement IT 1s true.
(1) 1
(2) 2
3) 3
4) 4
Hrr 21 e fen T 2
weA | et duem & i uftada 3t @z gugw 26 2, 9= @ gk Fafie =0 9 9= & 2)

wud 11:  afea dugm § TR gehn, S 504 Wi T8 8 it snrafea gt ard )

ITUH HYA o Ao 7, A= for m famedi § 9 a8 3w =aw i -

(1) 1
(2) 2
(3) 3
(4) 4

wed [ 3 112 aeg &
®e [ 3 11361 s/ 8
w44 | ae9 &, oifeh %9 11 35 2
®u | 39 &, oA e [1 99 2

1[Option ID=25997]
2[Option ID=25998]
3[Option ID=25999]
4[Option ID=26000]

Sl. No.76

QBID:1063051




Given below are two statements :

Statement I :  Information literacy 1s an essential skill for 215t Century.

Statement II : Majority of the users of ibrary are information literate.

In the light of the above statements. choose the most appropriate answer from the options
oiven below :

(1) Both Statement I and Statement IT are correct.
(2 Both Statement I and Statement IT are incorrect.
(3) Statement I 1s correct but Statement II 1s incorrect.
(4) Statement I 1s incorrect but Statement II 1s correct.
(1) 1
(2) 2
(3) 3
(4) 4
g s frm .

®ea [ gea waa 21 were & o uw e S 2
w99 [1: JEherd & FgaedHh ITARTHA| g1 e 2l o

3T HYA % Iers °, A fgu e fawmedt 4 @ g9 I s g Hifsw

(1) @y 13 1131 ot &
(2) e I3 11 g1 e B
(3)  wy [T 8, &ifra sem 11 mea 2
(4)  ®uF [ 7TeTa &, offent ®u= 1188 2

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26001]
2[Option ID=26002]

3[Option ID=26003]
4[Option ID=26004]

Sl. No.77
QBID:1063052




Given below are two statements :

Statement 1 :  Transmission Control Protocol (TCP) breaks data into the packets so
that the network can handle efficiently.

Statement II :  TCP reassembles the data packets after recelving at the destination.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true.
(2} Both Statement I and Statement IT are false.
(3) Statement I 1s true but Statement II 1= false.
(4) Statement I 1s false but Statement II 1s true.

1) 1

(2) 2

3) 3

(4) 4

A sy fegm 2 -

wue [ guw Fram wiesta (S dt) Swe | 2o w1 w0 9 s # 3, IHe deash e |
TEYA T Thal 2

wo 11:  @.dtd. 221 Tehen 1 o & Iy T TEitaa S 2

IV HUA & Felrs |, 9 feu mu famedt § & @8t I w1 =55 Sifau

() ¥ I3 11 g aea 8
(2) YA I 3 I ST 35 8
(3) YA [T B, afes sy 11 370 2
(4) A [ 3w 2, Sfe sya 1o 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26005]
2[Option ID=26006]

3[Option ID=26007]
4[Option ID=26008]

Sl. No.78
QBID:1063053




Arrange the following state public libraries acts according to their yvear of enactment’

(A) Arunachal Pradesh
(B) Rajasthan

(C) Andhra Pradesh
(D) Haryana

(E) Telangana

Choose the correct answer from the options given below :

1 (©), @O, B, L), E)
@ @O, ©), B, ), E
3 (€, @O, 4), B), E)
4 (©), @), E), (B), (4)
1) 1
(2) 2
3) 3
(4) 4

fFrferfiaa osi % ardefrs g sfufaa 0 s sifufem of % s sefem it

(A)  IFETEE 9CA

(B) TH

(C) 3y wew

(D)  sfEmn

(E)  demren

Hra feu o fareai 8 @ w3 1 ==w Fifew

(1) (©), @M, B), A), E)
2 @O, (©€) B), A), E)
(3) (G, (@D, (A4), (B), (E)
@ (€. @O, (E, B), A

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26009]
2[Option ID=26010]

3[Option ID=26011]
4[Option ID=26012]

Sl. No.79
QBID:1063054




Arrange the following publications of S.R. Ranganathan according to the vear of their first
publication.

(A) Prolegomena to Library Classification
(B) Classified Catalogue Code
(C) Reference Service

(D) The Five Laws of Library Science

Choose the correct answer from the options given below :

(1) (D). (B). (C). (A)
(2) (B). (D). (A). (O
(3) (D). (B). (A). (C)
(4) (A). B). D) ()
(1) 1
(2) 2
(3) 3
(4) 4

wE. R, TrA & Prafafas st 6 o6 gy 9r geem # sEn srafen fifo

(A) e g et senfafhe

(B) weNTH%EE Heain S
(C)  Twim #=1
(D) T HIEd ATA A6 ATSHl qEg

fra feu mu fawedi § @ wdt 3w w1 = Fife

(1) @O, @), (©C), A)
@ B, @O @A), ©
@ @O ®. A), ©
@ @, B O, ©

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26013]
2[Option ID=26014]

3[Option ID=26015]
4[Option ID=26016]

Sl. No.80
QBID:1063055




Arrange the following class numbers according to colan classification (6% edition).

(A) 20gzR
(B) 2N
(C) 2

(D) 2a

Choose the correct answer from the options given below :

(1) (D). (C). (A). (B)
(2) (C). (D). (A). (B)
(3) @M, (©). @B, )
(4) (D). A). B). (O

(A) 20gR
(B) 2N
() 2

D) 2a

fra feu mu famed 4 @ |t 3w w1 wa Fife

(1) D), (©€), &), (B)
(2) €. M), &), B
(3) D, (©€), B), A)
(4) D), (@A), B), (C)
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26017]
2[Option ID=26018]
3[Option ID=26019]
4[Option ID=26020]

Sl. No.81
QBID:1063056




Which of the following Public Libraries Act have provision of library cess?

(A) Kerala Public Libraries Act

(B) Telangana Public Libraries Act
(C) Goa Public Libraries Act

(D) Manipur Public Libraires Act
(E) Haryana Public Libraries Act

Choose the most appropriate answer from the options given below :
(1 (A), (B), (D) only

(2) (B). (C), (E) only

(3 (A), (B) only

(4 (A), (B), (E) only

(1) 1
(2) 2
(3) 3
(4) 4

frferfiga & & foem wrdafaes waemem sfafrm § wasem @9 % yEaE 27

(A)  Fa gl e sfafEm
(B) A HEwHS T sfafEm
(C)  Tira wrEefes T sfafem
(D)  wfing T R sfufem
(B)  sfamn gl gewem syt

f= feu mu fosei & & g8 I 3w =299 fif
(1) %44 (A), (B), D)

(2)  %a4 (B), (), (B)

(3) e (A), (B)

(4)  ad (A), (B), (E)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26021]
2[Option ID=26022]

3[Option ID=26023]
4[Option ID=26024]

Sl. No.82
QBID:1063057




Which of the following are circulation syvstem of books?

(A) Browne Charging System
(B) One Card System
() Three Card System

(D) Newark Charging System

Choose the correct answer from the options given below :
(1) (A) and (B) only
(2) (B) and (C) only
(3) (B) and (D) only
(4) (A) and (D) only

(1) 1
(2) 2
3) 3
(4) 4

frferfiga & & Frf gt &1 ofEes ynfer &7

(&) st smm-frins ggfa
(B) T T WO

(C) T womett

(D) & AEHE-TEGH TE

H= feu o fasedi 8 @ el IvgE I @ 999 fifsu:
(1) & (A) 31 (B)
(2)  %ae (B) 3R (C)
(3) %=« (B) 3t (D)
(4)  *Ed (A) I (D)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26025]
2[Option ID=26026]

3[Option ID=26027]
4[Option ID=26028]

Sl. No.83
QBID:1063058




Information on ‘Agnipath’ can be found in which source?

(A) Data India

(B) Asian Recorder

(C) India 2022

(D) Manorama Year Book

Choose the most appropriate answer from the options given below :

(1) (A) and (C) only
(2) (A) and (B) only
(3) (B) and (D) only
(4) (B) and (C) only

(1) 1
(2) 2

3) 3

(4) 4

‘ftray’ w ge feg wia & ura 6t o wedt 27
(&) e st

(B) uhmEm feridt

(C)  sfem 2022

(D) A SR

fa feu mu foshedi & & g8 IrgE w0 =599 i
(1)  %ad (A) 3 (C)
(2) % (A) 3 (B)
(3) e (B) 3 (D)
(4) a4 (B) 3 (0)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26029]
2[Option ID=26030]

3[Option ID=26031]
4[Option ID=26032]

Sl. No.84
QBID:1063059




Matech List I with List 1T :

388

(D)

List 1
{Public Libraries)
Asiatic Society Library
Connemara Public Library
Saraswathi Mahal Library

List IT

(Place)
(I) Chennai
(IIY Patna

(11T} Mumbai

Khudabhaksh Oriental Public Library (IV) Thanjavur

Choose the correct answer from the options given below :

(1) (A)-(I1I), (B)-(I), (C)-(IV), (D)-(1T)
(2) (A)-(D), (B)-(ILI), (C)-(1I), (D)-(IV)
(3) (A)-(ID), (B)~(LLI), (C)-(IV), (D)-(I)
(4) (A)-(I1I), (B)-(I), (C)-(1L), (D)-(IV)
(1) 1
(2) 2
(3) 3
(4) 4
g1 & Ty g1 +1 faem Hifiw
i1
(mrd=fre qeTer)
(A) e dEEE wEs
(B) SI=HH Arafh JEhed
(C) wHead! HEd Jeashio
(D) e 9= TS e

1T

(zom)
I ==

(I)y &
(L) g%
(IV) T

fr= feu o fasmedi d & v 3 1 =9 Hifaw

(1)
(2)
(3)
(4)

(1) 1
(2) 2
3) 3
(4) 4

(A)-(I1D), (B)-(D), (C)-(IV), (D)-(IT)
(A)-(D, (B)-(ILD), (C)-(ID), (D)-(IV)
(A)-(I), (B)-(I1D), (C)-(IV), (D)-(I)
(A)-(IID), (B)-(D), (C)-(ID), (D)-(IV)

1[Option ID=26033]
2[Option ID=26034]
3[Option ID=26035]
4[Option ID=26036]

Sl. No.85

QBID:1063060




Match List I with List II : Match following with DDC numbers

List I List IT
Subject DDC number
(A) Eduecation I 610
(B) Medicine (I} 5”74
(C) Biology (IIT) 581
(D) Botany (IV) 370

Choose the correct answer from the options given helow :

(1) (A)-(IID, (B)-(I), (C)-(IV), (D)-(1I)
(2) (A)-(11), (B)-(1ID), (C)-(1), (D)-(IV)
(3) (A)-(D), (B)-(ILI), (C)-(II), (D)-(IV)
(4) (A)-(IV). (B)-(D), (C)-(ID, (D)-(I1I)

(1) 1
(2) 2
(3) 3
(4) 4

g1 & Ty g1 *1 faem $ifi : feafafaa = @808, gen & o faem A

L8| 111
(ferar) (.. T=n)
(A) Foren @M 610
(B) fafeam fasm 1) 574
(C) e fegm (IIT) 581

(D) ety fasm (IV) 370

Fr= feu mo fawmedi ® @ w3 1 === Fifsw

(1) (A)-(I1D), (B)-(I), (C)-(IV), (D)-(II)
(2) (A)-(II), (B)-(I1I), (C)-(1), (D)-(IV)
(3) (A)-(D), (B)-(ILI), (C)-(ID), (D)-(IV)
(4) (A)-(IV), (B)-(D), (C)-(IL), (D)-(II)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26037]
2[Option ID=26038]

3[Option ID=26039]
4[Option ID=26040]

Sl. No.86
QBID:1063061




Match List I with List I1 :

List I List I1
{Bibliography) (First yvear of publication)
(A) Indian Books in Print Iy 1960
(B) British Books in Print (II) 1948
(C)  Publishers Weekly (III) 1955
(D) Books in Print (IV) 1965

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(IL), (C)-(I1D), (D)-(IV)
(2) (A)-(1T), (B)-(L1D), (C)-(1), (D)-(IV)
(3) (A)-(IT), (B)-(1), (C)-(I1D), (D)-(IV)
(4) (A)-(I1D), (B)-(IV), (C)-(I), (D)-(11)

(1) 1
(2) 2
3) 3
(4) 4

-1 =g g=i-11 =1 faem e

T=1-1 =11
(ase= 5=h) (srhrer =)
(A) 3Tz 798 = = (I) 1960
(B) Tafzo 798 =A = (I) 1948
(C) waferr e (II) 1955
(D) = A = IV) 1965

4= 20 T T § 9 w2 I A 99 Hie

(1) (A)-(I). (B)-(II). (C)-(II). (D)-(IV)
(2) (A)-(IT). (B)-(ILI). (C)-(I). (D)-(IV)
(3) (A)-(ID). (B)-(I). (C)-(III). (D)-(IV)
(4) (A)-(III). (B)-(IV). (C)-(I). (D)-(II)

(1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=26041]
2[Option ID=26042]

3[Option ID=26043]
4[Option ID=26044]

Sl. No.87




QBID:1063062

Match List I with List I1 ;

List 1 List IT
{(Programming Languages) (Year of Origin)
(A) ALGOL Iy 1964
(By COBOL (II) 1958
(C)y BASIC (I1I) 1957
(D) FORTRAN (IV) 1959

Choose the correct answer from the options given below :

(1) (A)-(1T), (B)-(IV), (C)-(D), (D)-(11T)
(2) (A)-(), (B)-(ID), (C)-(IV), (D)-(I11)
(3) (A)-(IV), (B)-(I1L), (C)-(IT), (D)-(D)
(4) (A)-(), (B)-(IV), (C)-(ID), (D)-(I1T)

(1) 1
(2) 2
(3) 3
4) 4
get-1 % Ty -1 =1 faem Hifsw
gt gft-11
(SFRIET WTaTE) (Feafer =1 =)
(A) ALGOL (3emre) (I 1964
(B) COBOL (=m==) (Il) 1958
(C) BASIC (3f&=®) (1) 1957
(D) FORTRAN (%) IV) 1959
Hr=r feu mu fawmei ® & = I w1 == Fifsw

(1) (A)-(1I), (B)-(IV), (C)-(D, (D)-(III)
(2) (A)-(D), (B)-(ID), (C)-(IV), (D)-(III)
(3) (A)-(IV), (B)-(I1L), (C)-(ID), (D)-(D)
(4) (A)-(D), (B)-(IV), (C)-(ID), (D)-(I1I)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26045]
2[Option ID=26046]

3[Option ID=26047]
4[Option ID=26048]

Sl. No.88
QBID:1063063




Vidya-Mitra' is a/an

(1) Journal Database (2) E-content Portal
(3) Patent Database (4) Thesis Database

(1) 1
2) 2
(3) 3
(4) 4

frfmos @

(1) o+ (9 i) Serm (2) 3-whe= diew
(3) U= TEE (4) fifm e

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26049]
2[Option ID=26050]

3[Option ID=26051]
4[Option ID=26052]

Sl. No.89
QBID:1063064

Which of the following can be used for selection of reference sources?

(1) British National Bibliography

(2) Walford's Guide to Reference Materials
(3) World Guide to Libraries

(4) Indian National Bibliography

(1) 1
(2) 2
(3) 3
(4) 4

Frferfiga o & forme ded uui % = % foo mam e s o 27

(1) fafew Jome fefeasmmd

(2) = =ewte mEE g vhiw s
(3)  deS TMEE g St

() e S fefeastord

(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=26053]
2[Option ID=26054]
3[Option ID=26055]
4[Option ID=26056]

Sl. No.90
QBID:1063065

What does a trademark protect?
(1) The look and shape of the product (2) An invention

(3) A work of art (4) Logos, names and brands

(1) 1
(2) 2
(3) 3
(4) 4

(1)  3091E =1 &9 30 90 (2)  aTiawsr

(3)  FATFM (4) ST, T HE A
1) 1

(2) 2

(3) 3

4) 4

1[Option ID=26057]
2[Option ID=26058]
3[Option ID=26059]
4[Option ID=26060]

Sl. No.91
QBID:1063066

Who was the first librarian of National library of India after independence?
(1) Kalpana Dasgupta (2) B.S. Kesvan
(3) K. Izaac (4) K.M. Asadullah

(1) 1
(2) 2
(3) 3
(4) 4

AT F W YA T G T TR Aeas i ot

(1) oo SEe (2) #.TE. FEad
(3) . AAE (9 .. sFEgEl
1) 1

(2) 2

(3) 3

(4) 4




1[Option ID=26061]
2[Option ID=26062]
3[Option ID=26063]
4[Option ID=26064]

Sl. No.92
QBID:1063067

‘The Five Laws of Library Science’ were enunciated by

(1) Melvil Dewey (2) .J.D. Brown

(3) S.R. Ranganathan (4) Krishna Kumar

(1) 1

(2) 2

(3) 3

(4) 4

(1)  Hfeae = (2) HE1. ;A
(3)  TH.AR. THERA (4) F FAW
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26065]
2[Option ID=26066]
3[Option ID=26067]
4[Option ID=26068]

Sl. No.93
QBID:1063068

Which one of the following represents main class library science in 6% ed. of CC?

(1) A (2) 2
(3) L (1) Z

(1) 1
(2) 2
3) 3
(4) 4

Frerferfian 5 2 R .. % 53 dewm § ge o gewe fiamw w1 SR w27

(1) A (2) 2
(3) L 4 Z
(1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=26069]
2[Option ID=26070]
3[Option ID=26071]
4[Option ID=26072]

Sl. No.94
QBID:1063069

Who has given seven functions of management and coined an acronym as “POSDCORB"™?

(1) Newman and Summer {2) Luther Gulick and Lyndall Urwick
(3) Stueart and Moran {4) Oliver Shelden and E.F.L. Brech

(1) 1
(2) 2
(3) 3
(4) 4

fraferfiga & o frgd weem % o v wem feu § st (Cfistmmddietem ) & w9 oH
wymreRdt T & = Hi e

(1) = i am (2) aqw e sin e st
(3) w3 N A (4) Afferar dee 3 {wgue o=
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26073]
2[Option ID=26074]
3[Option ID=26075]
4[Option ID=26076]

Sl. No.95
QBID:1063070

Which of the following i1s not a reason of bindings?

(1) To fight against wear and tear

(2) To avoid damage from mis-handhing

(3) To preserve perishable and frail materials
(4) To avold more usage of material

(1) 1

2) 2

(3) 3

(4) 4




fraferfaa & & S fregarsht =1 v s 58 27

(1)  ®HeA-Hed & fowg w=ma wen

(2)  TTeTd @ ¥ WE-E9Te % S0 afd & ==
(3) T B 909 3 TgE gt &1 geen S
(4)  @maft % s S99 o wEw S

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26077]
2[Option ID=26078]

3[Option ID=26079]
4[Option ID=26080]

Sl. No.96
QBID:1063071

‘Introduction to Reference Work’ is written by

(1) S.R. Ranganathan (2) Bill Katz
(3) William A. Katz (4) Grower and Sharma

(1) 1
(2) 2
(3) 3
(4) 4

‘GEISHIH T OhE T W1 o #
(1) TE.IW TEEA @) o= wew
(3) faferm, v #e= (4) e 3t ymi

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26081]
2[Option ID=26082]

3[Option ID=26083]
4[Option ID=26084]

Sl. No.97
QBID:1063072

In which procedure. the books are arranged at their proper place after their use?

(1) Stock Verification (2) Stock Rectification
(2 Self Check-in (4) Stocking
(1) 1

(2) 2




3) 3
(4) 4

Fraferfaa @ 2 fea agfa & qeaet * swm & =g 7=t aafaa e w smaftam fea s 27

(1) =% g (2) i+ gfsiem
(3 = (4) el FH1 H

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26085]
2[Option ID=26086]

3[Option ID=26087]
4[Option ID=26088]

Sl. No.98
QBID:1063073

Catalogue representing collection of more than two libraries is termed as

(1) Subject Catalogue (2) Classified Catalogue
(3) Union Catalogue {4) Online Catalogue

(1) 1
(2) 2
(3) 3
(4) 4

&l qEashrerdl | Jfus d@ug & wiafifuc S0 ot v =t e w9 § 5 9@ 27

() fersa wg=h (2) =fipa sg=h
(3) =9 W (1) e T

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26089]
2[Option ID=26090]

3[Option ID=26091]
4[Option ID=26092]

Sl. No.99
QBID:1063074

Which of the following is not used for assigning book number?

(1) Cutter's Author table (2) Cutter-Sanborne Author table
(3) Merill's Author table (4) Ranganathan's Chain Procedure
(1) 1

(2) 2




3) 3
(4) 4

e e Fraa w0 % fon Frafafea | 9 o sam 78 o s 20

(1) et il g drfersn (2) HA-UIEHE Fi oigsh arferh
(3) e 6t S il (4) TR i gEen 9gf

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26093]
2[Option ID=26094]

3[Option ID=26095]
4[Option ID=26096]

Sl. No.100
QBID:1063075

A hard disk is divided into tracks which 1s further divided into

(1) Cluster (2) Sectors
(3) Vectors {4) Heads

(1) 1
(2) 2
(3) 3
4) 4

us wre for, Sw A fowfom it et 8, o s 4 fawnform foem s 27

(1) o= (2) H¥d
(3)  aeed (4) #=H

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26097]
2[Option ID=26098]

3[Option ID=26099]
4[Option ID=26100]




